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DBMS_JOB.submit : job 85

DBMS_JOB.remove : job XA

DBMS_JOB.change : job #HZ&
DBMS_JOB.next_date : job 2| CIZ A7 HEA
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Alter function TEST_FUNCTION compile;
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C:\sqlplus “/ as sysdba”

SQL> alter system

Set job_queue_processes=10

Scope=both;

@ Oracle 10g,11g 9| Z2 (HEY ZQ

rir

gLt

tok

el 2HR)
Default X[ Al 2t2F10(10g), 1000(11g)=2 HHE O US
C:\sqlplus “/ as sysdba”

SQL> show parameter job_queue_prosses;
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C:\ sqlplus “/ as sysdba”

SQL> GRANT EXECUTE ON SYS.DBMS_JOB TO SDE;
SQL> GRANT ANALYZE ANY TO SDE;

SQL> GRANT DELETE ANY TABLE TO SDE;
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SQL> connect sde/sde
SQL> @Update_states.sqgl
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Begin
DBMS_JOB.ISUBMIT
(job — 12,
what — ‘update_stats;’,
next_date — trunk(sysdate +1),
Interval — ‘sysdate + 1,
No_parse— FALSE);
Commit;
End;
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DECLARE
X NUMBER;
BEGIN
SYS.DBMS_JOB.SUBMIT
(
job=>X
,what =>'SYS.DBMS_JOB.ISUBMIT
(12 /* BINARY_INTEGER */,
"update_stats;" /* VARCHAR2 */ ,
TRUNC(SYSDATE+1) /* DATE */,
"SYSDATE+1" /* VARCHAR2 */
FALSE /* PL/SQL BOOLEAN */});'
,next_date =>to_date('08-04-2010 14:32:21','mm/dd/yyyy hh24:mi:ss')



jinterval => 'TRUNC(SYSDATE+1)"
,ho_parse => TRUE

);

:JobNumber :=to_char(X);

END;
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SQL> SELECT * FROM USER_JOBS;
JOB 9| AMK|
SQL> EXEC DBMS_JOB.REMOVE(JOBNO);
JOB ©| DISABLE
SQL> EXEC DBMS_JOB.BROKEN(JOBNO, TRUE);
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SQL> EXEC DBMS_JOB.RUN{(JOBNO);
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SQL> SELECT job, next_date, interval, failures, broken FROM user_jobs;
SQL> SELECT job,
To_char(LAST_DATE, ‘DD-MON-YYYY, HH24:MI’)LAST_DATE,
To_char(THIS_DATE, ‘DD-MON-YYYY, HH24:MI")THIS_DATE,
To_char(NEXT_DATE, ‘DD-MON-YYYY, HH24:MI"'YNEXT_DATE
From user_jobs;
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DELETE FROM USER_JOBS;
WHERE JOB IN(12);
COMMIT;
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CREATE OR REPLACE PROCEDURE UPDATE_STATS IS
strvarchar2(200);
recno_a NUMBER;
recno_d NUMBER,;
CURSORCLIS

SELECT B.OWNER || A’ ||A.REGISTRATION_ID as tabA, B.OWNER || '.D'
||A.REGISTRATION_ID as tabD

FROM (SELECT REGISTRATION_ID FROM SDE.MVTABLES_MODIFIED GROUP BY
REGISTRATION_ID ) A,SDE.TABLE_REGISTRY B

WHERE A.REGISTRATION_ID = B.REGISTRATION_ID;

BEGIN

FOR tlist IN C1 LOOP

str:='select count(*) from ' || tlist.tabA;

EXECUTE IMMEDIATE strinto recno_a;

str:='select count(*) from '|| tlist.tabD;

EXECUTE IMMEDIATE str into recno_d;

IF recno_a<>0AND recno_d <>0 THEN

str:='ANALYZE TABLE ' [|tlist.tabA ||' COMPUTE STATISTICS";
EXECUTE immediate str;

str:='ANALYZE TABLE ' [|tlist.tabD || COMPUTE STATISTICS';
EXECUTE immediate str;

ELSIF recno_a=0AND recno_d <>0 THEN

str:= 'ANALYZE TABLE ' |[tlist.tabD ||' COMPUTE STATISTICS';
EXECUTE immediate str;

ELSIF recno_a <> 0 AND recno_d =0 THEN

str:='ANALYZE TABLE ' [|tlist.tabA ||' COMPUTE STATISTICS";



EXECUTE immediate str;

END IF;

END LOOP;

EXECUTE IMMEDIATE 'ANALYZE TABLE sde.state_lineages COMPUTE STATISTICS';
EXECUTE IMMEDIATE 'ANALYZE TABLE sde.states COMPUTE STATISTICS';

EXECUTE IMMEDIATE 'ANALYZE TABLE sde.mvtables_modified COMPUTE
STATISTICS';

END;
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